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Charsfield Primary School
Calculation Policy

This guidance has been produced as a guide to indicate the progression through Addition,
Subtraction, Multiplication and Division (including fractions) in Years 1 — 6. It has been
developed from White Rose materials and guidance.

This document is to support teachers, teaching assistants and parents by showing clearly the
methods and algorithms that children will be expected to use.

Teachers should not feel compelled to dwell on expanded methods if, in their professional
judgement, pupils are ready to move to more efficient approaches.

Teachers should endeavour to ensure that children are working on the approaches expected
for their age.



Year 1

Start with the larger number on the
bead string and then count on to the
smaller number 1 by 1 to find the
answer.

ones.

'\\
o)

. 24325 R
‘ull S 3+2=5
o = 5=3+2 R
§ E 5=2+3 “‘H.
S o
S =

3 Balls 2 Balls

Y o0 Ball
‘g U bes to add t b . dd b h Use the part-part-whole diagram
= . se iﬁ estoa wo r!um berS Use pictures tf) a : two numbers together as shown above to move into the
> ogether as a group orin a bar. as agroup orin a bar. abstract.
) 5 6 7 8
=
-
c
8 5 6 7 8 Use a number line to count on in
O
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= 6+5=11 e wwew 6+5=11
9 e w9
g . 6+5=11
o “‘ ' N re’ LY
2 (O
» | ———
c
5. 6+4=10
>
o Start with the bigger number and 10+1=11
& use the smaller number to make Use pictures to add two numbers together
- | F 10. as a group or in a bar.
5
> Put 4 and 6 together to make 10. Add _
2 on 7. ﬁ'p‘ ﬁ'@!"@‘p‘ p‘f?? 44+ 7+6)= [10/+7]
5 . g8 T Fgs T IS 0
v ., m =
oo g o e
£ 3 I8 d gos
B ———
o &858 .&*.0’.0’.&’
D c Combine the two numbers that
ie) Following on from making 10, make Add together three groups of make 10 and then add on the
2 10 with 2 of the digits (if possible) objects. Draw a picture to remainder.
then add on the third digit. recombine the groups to make 10.
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= Add together the ones first, then After physically using the bas:e 10 blocks 24 + 15 =39
o and place value counters, children can
- add the tens. Use the Base 10
o] . . draw the counters to help them to solve
= blocks first before moving onto . 24
S w additions.
S C place value counters. + 15
o o 24 +15 = 44 + 15 = —_—
f.; = 10s 1s 39
o O e = =
£ & T 0 | (O] 0000
c * s |- EeEE 0000
g OO n (mEmEn @
= O 00000

(oY) ©)

©

>Q_J Make both numbers on a place value Using place value counters, children can 40+ 9
e grid. draw the counters to help them to solve 20 + 3
"g additions. 105 1s P

10s 1s 10s 1s YY) ..... 60+ 12=72
c = cmmnn @@ 8. P
4_, Q— [peepape e
GEJ g o o0 000
c DLD ommm | . m B 10s 1s
c & e coxmre o0 ee
E e
S Add up the units and exchange 10 e
ones for 1 ten. @
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Year 3-4

Column method with regrouping

Make both numbers on a place value

grid.

® ® @] 146

0000 3527
® (00 33
000|00 0000
88> 444

Add up the units and exchange 10 ones
for 1 ten.

@l @ ® | 14
© 0000 [e®® 57
000|00 j
00

As children move on to decimals,
money and decimal place value
counters can be used to support
learning. NB By Year 4 children will
progress on to adding 2 digit numbers.

100s 10s 1s
e [ 1 1 J
(010 L 1 1 ]
oo L 117

00

100s 10s 1s
o0 00
@

Children can draw a pictorial representation of

the columns and place value counters to
further support their learning and
understanding.

NB Addition of money needs to have £ and p

added separately.

100+40+6
+500+20+7
600+ 70+3 =673

As the children progress, they will move
from the expanded to the compacted

method.

146
+327
673

1
As the children move on, introduce
decimals with the same number of
decimal places and different. Money can
be used here.

Column
method with

regrouping

Consolidate understanding using numbers with more than 4 digits and extend by adding numbers with

up to 3 decimal places.
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Objective Concrete Pictorial Abstract
> hysical obj
® Use physica ObJeCtS'. counters, cubes Cross out drawn objects to show what has been
2 etc. to show how objects can be i
o v taken away. _ .
O | taken oy 4-2=2
£ O o ><, _
~ 4-2=2 oA 4-2=2 (X5 (>
2 X o XX
5 Make the larger number in your Count back on a number line or number track.
B subtraction. Move the beads along your
00 bead string as you count backwards in mma - Put 13 in your head, count back 4.
c ?
E ones , ]\C{Vhat n:mhbelr are you at? Use your
ingers to help.
o g e Start at the bigger number and count back the g P
- @) 13-4-9 smaller number, showing the jumps on the
3 number line. -
> Compare amounts and objects to find the XYY Y
difference. T .
) . Hannah has 8 goldfish. Helen has 3
% Count on to find the difference. goldfish. Find the difference between
= & & & l AT Lisa is 13 years old. Her sister is 22 years old, the number of goldfish the girls have
Find the difference in age betwean them,
:dE ~ .- ‘ F ‘ 13 ?
© e
3 o] S—
)
o) 22
i.% Use cubes to build towers or make bars to Draw bars to find the difference between 2
find the difference. Use basic bar models numbers.
with items to find the difference.
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Objective

Concrete

Pictorial

Abstract

Year 2
Column method without regrouping

Use Base 10 to make the bigger
number then take the smaller
number away.

75—-42 =133

T Crri

i
HH
i

H

Show how you partition numbers

to subtract. Again make the
larger number first.

Draw the Base 10 or place value
counters alongside the written

calculation to help to show working.

cn:n:n:u:m| o Calaulations
Eussnnsnasll 1) 3 ¢ | S
Oormn =y
OO -2z
hmen L R
e|le | ® | .
@ (13 ] § glzs.en-

This will lead to a clear
written column subtraction.

I_|-'—\.-1-
=23

]
-

e =T,
i

4

-
e 4
2

+

|'::aI':J*3
-il-‘l"

-
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Objective

Concrete

Pictorial

Abstract

Year 3+
Column method with regrouping

Use Base 10 to start with before moving on
to place value counters. Start with one
exchange before moving onto subtractions
with 2 exchanges.

Make the larger number with the place
value counters.

©o|o| & |
@06 000 e000 m

I Cakculstions

88

Start with the ones, can | take away 8 from
4 easily? | need to exchange 1 of my tens
for 10 ones.

©| o | © ;
: faladacians
06 [0 0000 | o
00000

00000

Now | can subtract my ones.

©@| e | ® e
@@ 0@ |(eee® | 2

i - BB
ofo) o B8,

Draw the counters onto a place value grid and
show what you have taken away by crossing
the counters out as well as clearly showing the
exchanges you make.

When confident, children can find their own
way to record the exchange/regrouping.

Just writing the numbers as shown here shows
that the child understands the method and
knows when to exchange/regroup.

22~ 18=24

Skep 3
0 1

-

L

§36-254" 582
- 3h s ¢

200 50 &
500 80 2

-

Children can start their formal written
method by partitioning the number
into clear place value columns.

728-582= |46

H v w
6] l2 8
y 8 2
b 6

Moving forward the children use a
more compact method.

This will lead to an understanding of
subtracting any number including
decimals.

5 12 1
2 6 .3 .0
- 2 6 . 5
2 3 6 . 5
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Objective

Concrete Pictorial

Abstract

Year 3+
Column method with regrouping

Now look at the tens, can | take away 8 tens easily? | need to exchange 1 hundred for 10 tens.

@
Calculations
©]0]010) | 234
00000 @ 88
00,0100,

Now | can take away 8 tens and complete my subtraction.

© ® ;
: Calcylations

0000
® :

. 88
® i 146

Show children how the concrete method links to the written method alongside your working.
Cross out the numbers when exchanging and show where we write our new amount.

932 - 457 becomes

s

- 4 5 7
4 7 5
Answer: 475
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Years 1-2

Use different objects to add equal
groups.

There are 3 plates. Each plate has 2 star
biscuits on. How many biscuits are there?

Write addition sentences to describe
objects and pictures.

c
9 9 w»
= |
o 5 e A8
2 W DHB
S 2+2+2=6
Q 5 L . 2+2+2=6
©
s m
% @é@ e Fr 23 4 56 78 9 101121 115
(o'
e 5+5+5=15
S Create arrays using counters/cubes to Draw arra\(s in diffgrgnt r‘otations to find Use an array to write multiplication
= show multiplication sentences. commutative multiplication sentences.‘) s sentences and reinforce repeated
o ' addit’
£35 2222 4=8 4x2-30® 00000
2 2 e 00000
=
_g = 4x2=8 Y ) 00000
o +5+5=
g =2 Link arrays to area of rectangles.  2x4=38 o0 #o=1o
© = »
5:;59 090000 3+3+3IFIFEFI=1T5
S 0000 Ex3~15
= 00000 3515
o X
O 0000
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Year 3-4

Grid method

Show the link with arrays to first introduce
the grid method.

X 10 [ 3
3383338335388  ,rowents

- 9000000000 000 4 rows of 3
0000000000 000

Move on to using Base 10 to move towards
a more compact method.

X

4 rows of 13

Move on to place value counters to show
how we are finding groups of a number.
We are multiplying by 4 so we need 4
rows.

Fill each row with 126.

©) ® kbt

s | ax126
= z
)

Add up each column, starting with the
ones making any exchanges needed.

DOO O

Hobl o

@ © ®

BN .00 I I=iC) [

et 3

(i 0.0 _@ C.
4 x 126 = 504

Children can represent the work they
have done with place value counters
in a way that they understand. They
can draw the counters, using colours
to show different amounts or just use
circles in the different columns to
show their thinking as shown below:
i :

Start with multiplying by one digit
numbers and showing the clear
addition alongside the grid.

r

X 30 5
7 210 35

210 + 35 =245

Moving forward, multiply by a 2
digit number showing the
different rows within the grid

method.

10

10 8
100 80
30 24

Multiply two-digit and three-digit
numbers by a one-digit number
using formal written layout.

Short multiplication

24 x 6 becomes

2

Ll
|
E- - I -

Answer: 144

342 x 7 becomes

3 4

BNN

9
1

N X
(ST

Answer: 2394
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Year 5-6

Show the link with arrays to first
introduce the expanded method.

Start with long multiplication, reminding

o the children about lining up their
4_% 10 8 numbers clearly in columns.
CU 9000000000000 0000s 18
= 10 ©0c0cscccslocssosss x 13
8 R (171 P P M 24 (3x8)
ge) ceccccscccfesscccse 30 (3x10))
% ::::ié:::::::ﬁ::: 80 (10 x 8)
o 3 tccccccccslossencss 100 (10 x 10)
o 234
Children can continue to be supported by Bar modelling and number lines can support Start with long multiplication, reminding the
place value counters at the stage of learners when solving problems with children about lining up their numbers clearly in
multiplication. multiplication alongside the formal written columns. If it helps, children can write out what
they are solving next to their answer.
methods B
-c b 6
@)
e 1
)
Q 2 1
E 2 4
.'5 + 4 2 0
8 4 6 6
= o ) This moves to the more compact method.
o It is important at this stage that they o
O always multiply the ones first and note 1342
down their answer followed by the tens x 18
which they note below. L ANEE
10736
24156
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Year 1-2

$$ $$

Divide quantities into equal groups.
Use cubes, counters, objects or place
value counters to aid understanding.

and work out how many would be within
each group.
10 10+5=7

I I R B

5x7?=10

(@)
o
(@)
<
“ 8:2=4
| have 8 cubes, can you share them
equally between two people? Children use pictures or shapes to share Share 8 buns between two
guantities. people.
‘». Use a number line to show jumps in groups. Divide 10 into 5 groups. How
The number of jumps equals the number of many are in each group?
groups.
> [ | | | |
< 012 3 4567 8 9 10 S -
= 10+5=2
S f‘\' ® ‘@\l (.\\ f'\, Think of the bar as a whole. Split it into
Q | th ber of dividing b
< . e number of groups you are dividing by
G) (\‘/ \J \\3/ \./' \\_.//
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Year 3-4

Find the inverse of multiplication

ones equally among the groups. We look at how
many are in each group.

0000 ©® e oo

= S 7 ]

() 0000

Encourage them to move towards counting in
multiples to divide more efficiently.

m . . .
%‘ Draw an array and use lines to split the array and C!IVISIOI’] sc'entfences by
o : e creating four linking number
= into groups to make multiplication and
© o sentences.
- division sentences.
)
§ Link division to multiplication by creating 5x3=15
c an array and thinking about the number 3x5=15
o sentences that can be created:
T : 15+5=3
(7p]
& 15:5=3  3x5=15
Use place value counters to divide using the short Students can continue to use drawn diagrams
dI.VISIOI’l method alongside. 96 +3. Start with the with dots or circles to help them divide
biggest place value. 3 2 numbers into equal groups. Begin with divisions that divide equally
with
000 e e 2 1 8
g 3 |oce ee 3
= 000 ee
= 42+3 418 7 2
© We are sharing 40 into three groups. We can put 1
'g ten in each group and we have 1 ten left over. We
c exchange this ten for 10 ones and then share the
V)

Charsfield CofE Primary Calculation Policy
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Year 5-6

Short division with remainders

Divide objects between groups and see
how much is left over.

14+3=

“' "I "I "

Jump forward in equal jumps on a number
line then see how many more you need to
jump to find a remainder.

O

364 —- 3=
121 rem1
3 |364
€] [ X ®
@ [ X ] ®
@ ® @ ®

Draw dots and group them to divide an
amount and clearly show a remainder.

OOOOL

28+8=3r5

Complete written divisions and
show the remainder using r.

29 = 8 = 3 REMAINDER 5
T T T

dividend divisor guotient remainder

Move onto divisions with a remainder.
Once children understand remainders,
begin to express as a fraction or

decimal. 8 ;3 r 2
5| 4 3‘2
1 8 61/5
59 3°1
4
1 4
16 21

Charsfield CofE Primary Calculation Policy
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Children will use long division to divide numbers with up
to 4 digits by 2 digit numbers.

Calculate 4,320 = 32 = 135

32 [ 64 ] 96 [128]160[192 1 3]s
32143 2 0
- - 3 2 |
O
o | 1 1 2
- >
©|© — 9 | 6
> | oo
C
9 1 6 | O
- 1 6
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Children begin to make sense of
fractions as part of a whole through

exploring the halving of objects, shapes
and quantities.

shape or quantity

Recognise, find and name a half
as 1 of 2 equal parts of an object,

Links are made between the halving and
quartering of real objects and children begin
to recognise half and quarter shapes in
different orientation and they explain why
some shapes can be halved but not
guartered.

DO >

Children begin to make links between
fractions of shapes and quantities
through the sharing of items as part of
problem solving in varied contexts.

Step 1

ODGUDDDD‘ Step 2

/a :N -
\ / S \|Hairora=4
1
\

1 _
1ofg=4
20

-
- | = Children begin to make sense of fractions
© v o :
Q ® o as part of a whole through exploring the
> o & . .
£ o quartering of objects, shapes and
o N .y
> . quantities. step 10000 Step 2
! _
© o \
m _—
€ -8 = / %ﬂ m Quarter of 8 = 4
© c 5 >»O¢ >0¢ [ | 1ofg=4
[
se 8§ T pe e \ / K oo 4
% n O k‘ " _‘ 4 T ___‘
o 5
£8
g3
€ g
g =
26
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Year 2

Recognise, find, name and write

a length, shape, set of objects or

quantity.

3 and recognise the equivalence of | fractions 1/3, 1/4, 2/4 and 3/4 of

Children find fractions of the lengths of a
piece of string, strip of paper, ribbon,
shoelace, etc. by folding. Children should
be encouraged to discover the strategy
of halving and then halving again.

=m

1m

Children solve problems involving
finding fractions of a jug or container
full of water, flour, sand etc. They are
to explore the best possible way to be
accurate using a range of containers.

Each fraction is represented using varied
shapes in different orientation.

TAON &
AN

Ll
4 gy
Children are given the opportunity to explore
the meaning of the numerator by making

links between the number of parts are
shaded and the numerator.

TtRLLL,
1 2 3 4 4
3 3 3

4 4 4

A
4
| B |

Children explore finding fractions of
guantities using objects by drawing on
their knowledge and understanding of
fraction of shape.

Pupils are taught to find simple
fractions of quantities using jottings
and bar-modelling and through their
understanding of the meaning of the

numerator and the denominator.

N
~
—
Q
[}
S
@©
o)
E Q I | 1
= e e e —
2 ': = lotg=4 & 1 fo=3 a lof6=2 8
2 5 ) . 2 ol | 3°9°° T Tl
- — m ::_._
*g = f . ' %ofgze”ﬁ“ Zotg=4 2‘[
© = £ CICT oeolE
SSRGRON 2 H three 3 g
%- £ - - Tofs—e PR
£ quarters
‘»
_P_.% I
)
S o

(@)
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Children must be given the opportunity to explore equivalent Solve problems that involve fractions using jottings and bar
fractions through varied shapes and representations and discover model.

similarities and differences. There are 15 cup cakes in a box. 2/5 of them are
. chocolate. How many cup cakes are chocolate?

Lw®ada®ed 05 ) w2 w3 g b o5 Pupils compare and order Y
fractions and come to a ﬁ

2 4 6 8 10 12 4 8 12 16 20
QOLEEE TR K E  concusiontogenenalise \
1.2 .3 _&._5_48 ﬁ

3 6 9 12 15 18 of 10=2 &
ARNNND AARN
They should recognise the relationship between the m&

numerators and the denominators and generalise based on
their observations.

8w ’ 15
B g OOypojoojoojioa
& by (\QJFQJ Jololo
£ -
1S 1S
@ 3 3 3 &‘:a agg «: u‘:
of 10 =10 ’mcﬂesm the box because 2/5of 15 is 6.

‘(’ 4 '(?fo .

ol als a|e alv ol
=3
—
(=]
n
o
— .
()

Clw

=]
=
-
o
n
f

Recognise, find and write
fractions of a discrete set of
objects: unit fractions and non-

=3
—
(=]
n
=]

unit fractions with small
denominators
|
I
|
|
|
|
2l 2lrs

oM % ([ WWHL
< OEJ _ . | %%
© 5 X Pupils should be taught to count wbb bbb bbb b TR oy rom—
»n = ; . 8 '
>Q-) (] 8 up and_down in tenths; . bl ol Bl el il K B B B B O 0 0O "O"O% 'b'b% What fraction of the pizza is left?
< o recognise that tenths arise from A 0OP\ PP 7/)‘5
—_ e e g . . 0 1 @ /0 H7 AN
< _8 dividing an object into 10 equal 1 N N = &/
b= T . . 123 4 5 8 7 8 o - — - Y\
S parts and in dividing one-digit W 1610 70 10 0 10 010 0 i i 4 3 /.\: u..o\
e g . numbers or quantities by 10. P 53 = ! 5 & \'. % ;// ==
S o g &=
5 ¢ £ 01234567 89 4 i ki
%'_E OLD | 10 10 10 10 10 10 10 10 10 I
& =3 —t—t—t——t+————+ g 5 s , 3
- = © Lucinda buys —— of the pie and gives — to Anna.
i =5 Five tenths is the same as 0.5 and 0.1020.30.40506 07 038 0.9 6 6
© B 5 % % What fraction of the pie has she got left? —— - ——  —
= — e o . %- v 3
Bk 10 it X i
2 = because one whole is divided into 1 1 i
S e 10 parts equally and we take five 10 , 100 5 3 — 2
c O parts. On a number line we are five | H 0 | . | Tths | chsl 6 - 6 - 6
© GC) equal jumps away from 0. 5
©
S ©
<
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Year 4

Add and subtract fractions with

the same denominator using

diagrams

IEi

IE

S
4

- .h-l-h-

+
+

-h|—l -h-l—l

1l
-
-h-|-h

Add and subtract fractions with the same
denominator (within and beyond one whole)

Anna and Mark orders two whole pizzas.

Anna eats ﬂof the pizzas and Mark eats % ;

Addition

a) What fracuon of the pizzas do they eat altogether?

A ) ' .
® @A Ea T
chesd\d A

8 8

At a birthday party there are three pies cut into four equal

parts. i of the pies are eaten.

4

What fraction of the pies are left?

Subtraction

Solve problems involving increasingly
harder fractions to calculate quantities,

and fractions to divide quantities,
including non-unit fractions where the

answer is a whole number

At the market, pears are sold in crates of 35. 3/7 of the pears are sold in the first hour.

a) How many pears are sold?
b) How many pears are left unsold?

At the market, pears are sold in crates. 9 pears are sold, which is 1/4 of the crate of
pears. How many pears are in a crate altogether?

35 pears put into 7 equal groups is 5

"“'][""]

Pupils use bar modelling to gather all the information from the word-problem. They reason
about why they choose a bar-model that is divided into four equal parts rather than any
other number of parts and begin completing the information that is known.

35 7= 5 5 must be multiplied by 3
because three lots of 1/7
5)(3_—_|5 is sold.

a) 15 pears are sold in the first hour on the
market.

b) 20 pears are unsold because 4/7 are left
and 4/7 of 35 is 20.

If ¥4 of the pears are 9 pears,

2{9]5 515

then the number of pears in
the crate altogether must be
36 because 4/4 is one whole,
4 lots of Y is 4/4, therefore,

4 lots of 9 pears is 36 pears.

—

G

-

q[a[aa

-

26

SICIEIE
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Year 4

Count up and down in hundredths;

recognise that hundredths arise

when dividing an object by one
hundred and dividing tenths by ten

find the effect of dividing a one- or two-

digit number by 10 and 100, identifying
the value of the digits in the answer as

ones, tenths and hundredths

Children explore relationships between 1 whole, 10 tenths, 100 hundredths
using shapes and the number line and identify how this changes when they
compare 1 whole, 1 tenths and 1 hundredths.

I 1 wnoie |
; 1 whole I |
: ' g 0@ 1 tenths 1
L
) 1 tenths - B - -
0000000000 (117 SO00000000 000000000 000000000 DO0O00C000 v D 1
1 hundreths
b 1 hundredths ) R R R PO PR T AP AR AW
~DO00000000 DO00000000 LOO0CO0000 0000000000 10T DO00000000 1111 4 6 ] I | ) I ) T T T ‘i

1 whole

3 tenths

1 tenths

30 hundreths

1 hundredths

1 whole

1 tenths 1 hundredths |

7 tenths is the same as 70
hundredths because there are ten
hundredths in one tenth. This can

also be expressed as a fraction:

1 0
1 1
|| 1ins dﬁ%

| o
1 0.

7 |

Pupils recognise that any number of tenths can also be expressed as hundredths using the
following diagrams and PV chart.

Pupils use PV chart and diagrams to help understand how to write the decimal equivalence
to tenths and hundredths and use reasoning to explain their thinking.

34
100

100

6 hundredths has no tenths therefore
we must put a 0 as a place holder in
the tenths place when we express it as

a decimal number.

34
100 =0.34

3 tenths is the same as 30 hundredths because
there are ten hundredths in one tenth. This can
also be expressed as a fraction:

7 tenths

r 10

100

70 hundreths

6 _
100_0.06

V}O 3|4

34 hundredths is the same as 3 tenths and 4
hundredths put together or 30 hundredths
and 4 more hundredths. This can be
expressed as:

34
100 =0.34

1

100

| | |Tths Hths

0lol6]

Children explore with the use of diagrams
how 1/4, 1/2 and 3/4 are expressed as

decimal equivalents.

2

-‘1 ;

10 | 100

10 | 100
* | Tths | Hths

.|5

50
=100 =05
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<t © © ~©
wl|
N - -
+
t 1 =
»
=t © o] &
=t o
+ + b
['¥)
<l©
(4]
1
T
™~
n
o ©
o
w
—
Ol

squared books to draw
and shade the

Children use their
fractions.

Children convert mixed number fractions

into improper fractions and vice versa
using visual representation to embed

understanding.

——00 |

|
TNl

1
3

1ol

Lo [

™~ on

| ™M
< o % __

— N [

—— |

ool °

Convert the improper fraction to a mixed number

!
N
l
J
l

Where would this representation go on the

number line?

22
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Year 5

same denominator and
denominators that are multiples of

the same number.

1 1
r— + — =
P 4
s LCD:_4
. 1
Charlie eats T of the chocolate bar. | %3 \
. 3 2 -
Suzie eats = of the chocolate bar. e * = =
10
4 4
10 of the bar is eaten. m + H: =

Multiply proper fractions and mixed | Add and subtract fractions with the

numbers by whole numbers,

supported by materials and

diagrams.

\uw\u 5

3 quarters X 4 = 12 quarters
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Using varied representations and the concept of grouping pupils investigate
what happens when a mixed fraction is multiplied by a whole number. They
come to a conclusion to generalise.

(T (D [ &
Mo o))

(IO O
OO0 O

4|otsof2%= 4 x 2%

=8+

B B S

HEHEH

1. 1_173
lotsof 147 =3x 17 =35
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Explain your answer.

@/‘

(%]
< % == 5 o Children link their prior 2% 63%
%’ o gy "g @ understanding about decimal ‘IZ 5T3
2 & E & T numbers of tenths and hundredths 100 100
g ol _2 © © to percentages with the help of | 1
(%] -~ . .
- 5 o © 8 varied diagrams. 0.02 0.63
LN o o % o — = I I
- u-a&;t,gsg |I||||||I|I.|||||||||l|||||||||||||]||||||
© T £ L5 ) . | 1 | — | —
g o ; Q7 20 Pupils should make connections 0 1
Y o — . !
_GC’ % o g = o between percentages, fractions and ). 1 i o
= 8525 decimals (for example, 100% Lot | 7 | u || mins | vine]
— .
g O E ! e represents a whole quantity and 1% 0 |-« O 2
— . - . 1
Wwe 33 c is 100 1, 50% is 100 50, 25% is 100 0 1
o 5 & = i .
o o o) 2 3 25 ) and relate this to finding . . 3
e < © ‘fractions of". 0 |-
(%]
(o] Dorag, Jack, Mo and Rosie were asked to
() B c . . . . find 90% of a number.
£ ¥ 0% S Use equivalent fractions to find %s of numbers. )
A AP 8 ( rpies 1579
0] o= multiplied it by .
c HT L5 — Progress to multiple steps.
; © C o o Dora
= + (@©
o C c £ 1 found 1% o
LD S o 8 > O . bydwiil\‘l:g by 100, = 10% of 250 = 25
E 8 - U ©O 50% = 2 - then I multiplied my Jack
S »n O S C - answer by 90 All the methods are 1% of 250 = 2.5
® E o % © ‘-lg ‘ l acceptable ways of
g TE5 9T w \ I worked out finding 90%. 119% of 250 = 25+ 2.5 = 27.5
—_ E o) Q @ 50% + 10% + 10% + 10% + 10%
'g S5 O = + 800 | —— [10% = — 1% = Mo
= -+
Q 2 | O C I
(¢0) . . I found 10% and -—
g S %_ N § / +10 B subtracted It from 100% —
— U m osle
_—— ()
UO) 8 g ! o 25% = - Whose method is correct?
<
()
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Year 5-6

Add and subtract fractions with different denominators and

mixed numbers, using the concept of equivalent fractions.

| ! I’m going to convert both mixed

numbers to improper fractions first

|

2 X241
5 5
IX2+32
21_2 55
5 5 33_18
55

%) I’'m going to add my whole numbers
= and fractions separately.

1 5 8
32141437 713

7

1 5
(AT
3
B 12
3ta=7 3.5_38
12 12 12
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Year 6

Children must learn that the word ‘of’
means the same as the symbol ‘x’.

§_ o
C —

o
o o
52 5 ]
S 2 3 1,1 1511
o < o0 =y X = 2 4 2 4 8
203 3 4
[+ = Multiply the

= denominators
QL £ c
255 | . ; o g
Eszg 3| — L
wn ~ QO .
_Z g o h 3 — Fold into halves Fold into thirds f;ld:rd :::1 : (TP.‘,WP 'ht ‘b.f" |
—_— E s P X The shaded part represents
e ) T one-third of the half
=) 8 n 8
=
> KEEP this one the
o) — Split Va into two same.
e o ¥ equal parts. \ 2 4

>~ 1 1 1 ! 1

o = 1 1 2 e A
e} | — 2 = [ | % | 1/&1 I '1‘ | 1/h | 3 5 FLIP the divisor
(@) & o 4 8 \ ) ’ ' ’ 2 5 fraction
© 8 - " : CHANGE sign E_
‘: c m Half of Ya is s of the whole. iRy 3 4
Q S >~
Q — . 2% .
SE i.;__g,._i.._..?.,._i;_'_,._b_' 1 1 - SENGEED
s =3 T 1T ! T 2 7 11r3 : 4
Q _8 £ KI?;I%P CH@GE ng B 10« 5
o ~ = 12~ 6
[a) @ 5‘ 5] -2 7 2 1 SIMPLIFY
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